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20 hundreg, 6 tens, 3 ten thousand and 9 0N€>:
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i) In Standarq form: —-l W R L, R
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v) In words; Seven hunded W\“W
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V) The valye of 2 in the above number is: _QJ_Q—-O—O

vi) The place value of$ in the above number is: ‘en WrenrSond

b) The number has:

i)  Same million and unit digits even and less than 5, more

than two 4
i) _Hundred thousand digit is double the units,

——

iii) Thousand digit is odd and more than 7
et o [ F

iv) In Standard form: -, ) % O L )_Q, o
IO 0 2 (0
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\/\'\v\e ‘\‘—\‘[\nl x5(‘1vv\
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